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pthread_mutex_t Lock;

pthread_cond_t cond;

int counter = 0;

/* Thread A */

pthread_mutex_lock(&Lock);

while (counter < 10)

pthread_cond_wait(&cond, &Lock);

…

pthread_mutex_unlock(&Lock);

/* Thread B */

pthread_mutex_lock(&Lock);

counter++;

pthread_cond_signal(&cond);

pthread_mutex_unlock(&Lock);



pthread_mutex_t Lock;

pthread_cond_t cond;

int counter = 0;

/* Thread A */

pthread_mutex_lock(&Lock);

while (counter < 10)

pthread_cond_wait(&cond, &Lock);

…

pthread_mutex_unlock(&Lock);

/* Thread B */

pthread_mutex_lock(&Lock);

counter++;

if (counter == 10)

pthread_cond_signal(&cond);

pthread_mutex_unlock(&Lock);



pthread_mutex_t Lock;

pthread_cond_t cond;

int counter = 0;

/* Thread A */

pthread_mutex_lock(&Lock);

while (counter < 10)

pthread_cond_wait(&cond, &Lock);

…

pthread_mutex_unlock(&Lock);

/* Thread B */

pthread_mutex_lock(&Lock);

counter++;

if (counter == 10)

pthread_cond_broadcast(&cond);

pthread_mutex_unlock(&Lock);
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https://www.cs.cmu.edu/afs/cs/academic/class/15492-f07/www/pthreads.html
https://www.embhack.com/difference-between-spinlock-and-mutex/
https://gcc.gnu.org/onlinedocs/gcc-4.1.1/gcc/Atomic-Builtins.html
https://askldjd.com/2010/04/24/the-lost-wakeup-problem/



